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19.

Write a number in each box to make the calculations correct.
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12,

Write a number in each box to make the calculations correct.

‘0-d
L-L
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Here is a number line.
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— .
-5 -4 -3 -2 -1 o 1 2 3 4 5

It can help you work out the answers to the calculations below.

The first one is done for you.

-3+ 1=
\—4+1=
\—2+5=
\ 3-5=
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Here is a number line.

5 -4 3 -2 -1 0 1 2

It can help you work out the answers to the calculations below.

The first one is done for you.

i = =2
\-4+1=
\-2+5=
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1.

Write in the missing numbers.

+7

+10
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Write in the missing numbers.

+10

+7
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27. (a) What number is halfway between -2 and 67

(b) Complete the sentence.

-10 is halfway between

and 8
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17. (@) What number is halfway between -2 and 67

(b) Complete the sentence.

\

-10is halfway between

and 8




image15.jpg
10.

®)

©

‘The table shows the time difference between the UK and cities around the world.

City Time difference from the UK (hours)
Hong Kong +8
Dhaka +6
Dubai +4
Harare +2
London o
Brasilia -2
San Juan -4
Chicago -6
Los Angeles

The time difference between Harare and London is 2 hours.
What is the time difference between Dubai and Brasilia?

\_

Write two cities that have a time difference of 12 hours.

\

Now write a different two cities that have a time difference of 12 hours.

\
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When the wind blows it feels colder.
The stronger the wind, the colder it feels.

Fill in the gaps in the table.
The first row is done for you.

7 degrees colder
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When the wind blows it feels colder.

The stronger the wind, the colder it feels.

Fill in the gaps in the table.

The first row is done for you.

How much colder | Temperature
itfeels in the it feels in the.
wind (°C) wind (°C)
7 degrees colder -2
11 degrees colder
degrees colder -20
23 degrees colder -45
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Write the missing numbers on the number lines.
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Write the missing numbers on the number lines.

+6

i
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Add three to the number on each number line.
The first one is done for you.
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Add three to the number on each number line.
The first one is done for you.





